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Potenzregeln :

a0 = 1 ; a1 = a ; an = a · a · a · ... · a︸ ︷︷ ︸
n-Stück

a−1 =
1
a

; a−n =
1
an

; n
√

a := a
1
n

am · an = am+n ;
am

an
= am−n ; (am)n = am·n = (an)m

an · bn = (a · b)n ;
an

bn
=

(
a

b

)n

speziell die e-Funktion : ex · ey = ex+y ;
ex

ey
= ex−y ; (ex)y = ex·y

e0 = 1 ; e−x =
1
ex

Logarithmenregeln :

ex = y ⇐⇒ x = ln y

ln (1) = 0 ; ln (e) = 1 ; ln (ex) = x ; eln (x) = x

ln (u · v) = ln (u) + ln (v) ; ln
(u

v

)
= ln (u) − ln (v)

ln (ur) = r · ln (u)


